AR o#ER —

BE

=

=
26
e SF3ETA30H B |7 SEH(PRAREE)2BETHEE
BE | 4a19:40 HATA |ZRETE CIRES
THE | SHOER (A EHIT=HRe AL |ZERE =% RE
(%%%%) tJQ_IEJ;JE&1’¢I$ ﬁ%* 1%153'2#?%% LL“:I ﬁl],
BT |[BIRET R MR ARLAE 38R FEFE AR
fgﬁ SH3ESHGH ;ﬁga SFI3E9IA30H
AFLFEER M) ASE
=55 F 1[0 %= 2[0] REZE|EESEIIEBT Fr7Eih
1 16,390,000 gﬁ%ﬁ H*/08 Eg%zﬁtﬂrﬁ%ﬁm#/
2 16,200,000 HAL |ERRit D/BR (Rl any R
3 16,300,000 ERa aEER (TR ERRERIS
AMERER U Y [EH B S ETH L F0S
4 16,460,000 A B a0 T EHe0S
5 16,466,000 st SR 00 BRRTRRSS
6 16,299,000 MR EAZTH |[(EHERETHEMNIESS




